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Pegel Kloster Arnstein
Ereignis6, HQ 1

10 N-Summe: 15,13 mm
Scheitelabfluss: 7,95 m3/s
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6 E, Q Ereignisbeginn: 1,2 m¥s
\f\ = Ereignisdauer: 248  std.
4 § Abflussbeiwert: 50 %
l % N-Dauer: 38 St
2z max. N-intensitat: 3,62 mmi/h

mittl. N-intensitat: 0,40 mm/h

Verzogerungszeit: 6 .
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I S S A SN I M S S Vorfeuchte: hoch

Wetterlage: 35

Niederschlagsverteilung

EZG Pegel Kloster Arnskein
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unkter 0,00
o,0-1,0
1,0-2,0
2,0-3,0
3,0-4,0
4,0-5,0
o,0-6,0
&,0-7,0
7,0-8,0
g,0-9,0
9,0-10,0
10,0-11,0
11,0-12,0
12,0-13,0
13,0-14,0
14,0 - 15,0
15,0- 16,0
16,0- 17,0
17,0-15,0
15,0-19,0
dber 19,00




